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The value of sin  (cos x),   is

(a)  (b)  (c)  (d) 
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If  ; then cos x + cos  y is equal to
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x + y =sin−1 sin−1 2π
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 is equal to
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If sin x = 2sin  has a solution, then

(a)  (b)  (c)  (d) 
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 is valid for
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(cos x) = − xsin−1 π
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If sin  x+sin  y+sin   , the value of x +y +z is

(a) 0  (b) 1  (c) 2  (d) 3
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If   for some x   R, the value of tan  x is

(a)  (b)  (c)  (d) 

x =cot−1 2π
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The domain of the function defined by   is

(a) [1, 2]  (b) [-1, 1]  (c) [0, 1]  (d) [-1, 0]

f(x) = sin−1 x − 1
− −−−√

If  , the value of cos (cos x+2sin x) is
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 is equal to

(a)  (b)  (c)  (d) 

( ) + ( )tan−1 1
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If the function f(x) = sin (x - 3), then x belongs to

(a) [-1, 1]  (b) [ , 2]  (c)  (d) 

-1 2 

2√ [−2, − ] ∪ [ , 2]2√ 2√ [−2, − ]2√

If cot  2 and cot  3 are two angles of a triangle, then the third angle is

(a)  (b)  (c)  (d) 
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. Then x is a root of the equation

(a) x −x−6 = 0  (b) x −x−12 = 0  (c) x +x−12 = 0  (d) x +x−6 = 0

(tan ) − ( ) =sin−1 π
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sin (2cos x-1)+cos (1-2sin x)=

(a)  (b)  (c)  (d) 
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If  , then cos2u is equal to

(a) tan  (b) 0  (c) -1  (d) tan2

( ) + ( ) = ucot−1 sin α
− −−−√ tan−1 sin α
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If |x|   1, then 2 tan  x-sin  is equal to

(a) tan x  (b) sin x  (c) 0  (d) 
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The equation  has

(a) no solution  (b) unique solution  (c) two solutions  (d) infinite number of solutions

x − x = ( )tan−1 cot−1 tan−1 1
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If  , then x is equal to
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If  , then the value of x is

(a) 4  (b) 5  (c) 2  (d) 3

+ =sin−1 x
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sin (tan x), |x| < 1 is equal to

(a)  (b)  (c)  (d) 
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If   then ___________

(a)  (b)  (c)  (d) none of these

x − co x =sin−1 s−1 π
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The number of solutions of the equation   ____________

(a) 2  (b) 3  (c) 1  (d) none

2x + 3x =tan−1 tan−1 π
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The number of real solutions of the equation \(\sqrt { 1+cos2x } ={ 2sin }^{ -1 }\left( sinx \right) ,-\pi  is ___________

(a) 0  (b) 1  (c) 2  (d) infinte

 = ____________

(a) 0  (b)  (c) -1  (d) none

( ) + ( )tan−1 1
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tan−1 2
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If tan (3) + tan (x) = tan (8) then x = ____________ 

(a) 5  (b)  (c)  (d) 
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 __________
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sin{2 ( )} =cos−1 −3
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If   then x is ___________

(a) 0  (b) -2  (c) 1  (d) 2

( ) + ( ) = (−7)tan−1 x+1
x−1

tan−1 x−1
x

tan−1

If   then _________

(a) \(\cfrac { 1 }{ \sqrt { 2 } }  (b)  (c)  (d) x > 0

x > x > xcos−1 sin−1

0 ≤ x < 1
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In a    if C is a right angle, then    ________

(a)  (b)  (c)  (d) 

ΔABC ( ) + ( ) =tan−1 a
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(a) 7  (b) 6  (c) 5  (d) none
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The value of tan   is ______

(a)  (b)  (c)  (d) 
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The value of sin 2(tan  0.75) is ___________

(a) 0.75  (b) 1.5  (c) 0.96  (d) sin (1.5)
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If x > 1, then   ________

(a) 4 tan x  (b) 0  (c)  (d) 

2 x + ( )tan−1 sin−1 2x
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The value of   is________

(a)  (b)  (c)  (d) 
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The pricipal value of   is _________

(a)  (b)  (c)  (d) 

( )sin−1 −1
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π
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The value of  __________

(a)  (b)  (c)  (d) 

(cos ) is cos−1 7π
6

π
6
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The principal value of   is _________

(a)  (b)  (c)  (d) None of these

{sin }sin−1 5π
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π
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The value of  is ____________

(a) 0  (b) -1  (c) 1  (d) 

sin[ − (− )]π
3

sin−1 1
2

1
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The value of  is ________

(a)  (b) 1  (c)  (d) None of these

sin[arc cos ( )]−1
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1
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The principal value of cos  (cos 5) is __________

(a) 5  (b)  (c)  (d) 
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The value of   is equal to ___________

(a)  (b)  (c)  (d) 

cos[ + ( )]π
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Solution of the equation   _____________

(a) x = 3  (b)  (c) x = 0  (d) None of these

x + =cot−1 sin−1 1

5√
π
4
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 is equal to __________

(a)  (b)  (c)  (d) None of these

cos[ {sin( x)}]tan−1 cot−1
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The value of   is ____________

(a)  (b)  (c)  (d) None of these

sin[ + ]sin−1 5√
4

tan−1 5
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If   is __________

(a) n  (b) 2n  (c)  (d) None of these

x = 0,  then  x∑2n
i=1 cos−1 ∑2n

i=1

n(n+1)
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If   then x is equal to

(a) 1  (b) 0  (c)  (d) 

sin( + x) = 1sin−1 1
5
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If   then x is _________x − x =sin−1 cos−1 π
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(a)  (b)  (c)  (d) None of these1
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If   then x equals _____________ 

(a)  (b) 1  (c)  (d) -1

(x − + − …) + (x − + − …) =  For 0 < |x| < ,sin−1 x
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If   then ________

(a) x < 0  (b) -1 < x < 0  (c)  (d) 

x > xcos−1 sin−1

0 ≤ x < 1
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